1/
IIIIIIIIIIIIIIIII

\l m
‘

2 1
REV| ZONE| ECN REVISION DESCRIPTION DATH ENG
A | .. |.. |Released 12/04 |DC
B [ .. [4597]189039 was 189029 09/051DC
C | .. [.. [Added Section View/Dimensions 04/18 |PA/PD

*OPTIONAL* Not Included (sold seperately)

ITEM PART
NO. | NUMBER DESCRIPTION QTy.
18 (189040 Lock Up Plate 1
189031 Internal Trip Mechanism (Optional) 1

o MR DESCRIPTION ary.
1 189038 3/4" Shaft 1
2 189002 Spring Housing 1
3 189003 Center Plate 1
4 189004 Front Plate 1
5 189005 Eccentric Roll Pin 3
6 189006 Retaining Block 3
7 189007 Clutch Plate 1
8 189010 | SPRING: Tapered Coil, 1.25 0D x .620 OAL x 80°| 1
9 189012 RING: Retaining, .488 Dia. x .047 1
10 189013 Carbide Roll Bushing 3
1 189026 WASHER: Flat, M4 3
12 189032 SCREW: SHSS, M5 x 0.8 x 16MM 1
13 189034 SCREW: SSS, M3 x 0.5 x 8MM 2
14 | 189036 Stud 3
15 189037 NUT: Hex, M4 x 0.7 3
16 189039 SCREW: BHCS, M4 x 0.7 x 14MM 3

[45.390]
1.787
[39.522] [40.005]
1556 @1.575
~ [19.050]
P.750 [11.989]
[7.493] Q.47
@.295 —
BORE Y
B
- [83.007] -
3.27
SECTION A-A
THIS DRAWING IS THE CONFIDENTIAL AND EXCLUSIVE | UNLESS OTHERWISE SPECIFIED: |[DRAWN BY: D. Cole DWG SIZE| scaLE: 1:1
R R i e Do oo [CO) B
L A A AT SO ER IO ANYOE STANDARD Hi0BS £ ASME. |ENG. APPR: D. Cole S5 ABrinkman International Group, Inc. Company SHEET T10F 1
C.J. WINTER MACHINE TECHNOLOGIES, ING UNLAWFUL | Y14.5M 1994. UNTOLERANCED  |APPR DATE: 12/06/2004 189 End Rolling Attachment DRAWING NO.
DISCLOSURE MAY RESULT IN PROSECUTION DIMENSIONS ARE BASIC MATERIAL: SEE BOM : 1 89 ER 02
(0) 2004 C.J. WINTER MACHINE TECHNOLOGIES, INC.  |[ /] 020[A[B[C| SW |HEAT TRT: N/A .750 Dia. Shank .

4

3

2 ‘ 1



